

# FORMULAS FOR SUMS OF GENERALIZED ORDER- $k$ FIBONACCI TYPE SEQUENCES BY MATRIX METHODS

EMRAH KILIÇ

**ABSTRACT.** In this paper, we give formulas for the sums of generalized order- $k$  Fibonacci, Pell and similar other sequences which we obtain using matrix methods. As applications, we give explicit formulas for the Tribonacci and Tetranacci numbers.

## 1. INTRODUCTION

The well-known Fibonacci sequence  $\{F_n\}$  is defined for  $n > 2$  by

$$F_{n+1} = F_n + F_{n-1}$$

where  $F_1 = F_2 = 1$ .

The well-known Pell sequence  $\{P_n\}$  is defined for  $n > 2$  by

$$P_{n+1} = 2P_n + P_{n-1}$$

where  $P_1 = 1, P_2 = 2$ .

Also, in [2], the author defined  $k$  sequences of generalized order- $k$  Fibonacci numbers for  $n > 0$  and  $1 \leq i \leq k$  by

$$g_n^i = \sum_{j=1}^k g_{n-j}^i \quad (1.1)$$

with initial conditions

$$g_n^i = \begin{cases} 1 & n = 1 - i, \\ 0 & \text{otherwise,} \end{cases} \quad \text{for } 1 - k \leq n \leq 0$$

where  $g_n^i$  is the  $n$ th term of the  $i$ th sequence. For example, when  $k = 2$ , then the sequence  $\{g_n^2\}$  is reduced to the usual Fibonacci sequence  $\{F_n\}$ .

When  $k = 3$  in (1.1), the sequence  $\{g_n^3\}$  is reduced to the usual Tribonacci sequence  $\{t_n\}$ . The Tribonacci sequence is 0, 1, 1, 2, 4, 7, 13, 24, 44, ....

When  $k = 4$  in (1.1), the sequence  $\{g_n^4\}$  is reduced to the Tetranacci sequence  $\{T_n\}$ . The Tetranacci sequence is 0, 1, 1, 2, 4, 8, 15, 29, 56, 108, 208, ....

---

2000 *Mathematics Subject Classification.* 11B37, 15A36, 15A18,

*Key words and phrases.* Generalized Fibonacci numbers, sums, matrix methods.

Er [2] showed that  $G_n = A^n$  where the  $k \times k$  matrices  $A$  and  $G_n$  is given by

$$A = \begin{bmatrix} 1 & 1 & 1 & \cdots & 1 \\ 1 & 0 & 0 & \cdots & 0 \\ 0 & 1 & 0 & \cdots & 0 \\ \vdots & \ddots & \ddots & \ddots & \vdots \\ 0 & \cdots & 0 & 1 & 0 \end{bmatrix}, G_n = \begin{bmatrix} g_n^1 & g_n^2 & \cdots & g_n^k \\ g_{n-1}^1 & g_{n-1}^2 & \cdots & g_{n-1}^k \\ \vdots & \vdots & \ddots & \vdots \\ g_{n-k+1}^1 & g_{n-k+1}^2 & \cdots & g_{n-k+1}^k \end{bmatrix}, \quad (1.2)$$

respectively. The matrix  $A$  is said to be the generalized order- $k$  Fibonacci matrix. Furthermore, he gave the following identities:

$$g_{n+1}^i = g_n^1 + g_n^{i+1}, \text{ for } 1 \leq i \leq k-1 \quad (1.3)$$

$$g_{n+1}^k = g_n^1. \quad (1.4)$$

In [4], the authors gave the generalized Binet formula and the combinatorial representations of the generalized order- $k$  Fibonacci numbers  $g_n^i$  and Lucas numbers  $l_n^i$  (for more details see [5]).

In [2], the author defined the  $(k+1) \times (k+1)$  matrices  $C$  and  $U_n$  as follows

$$C = \begin{bmatrix} 1 & 0 & \cdots & 0 \\ 1 & & & \\ 0 & & A & \\ \vdots & & & \\ 0 & & & \end{bmatrix} \text{ and } U_n = \begin{bmatrix} 1 & 0 & \cdots & 0 \\ S_n & & & \\ S_{n-1} & & G_n & \\ \vdots & & & \\ S_{n-k+1} & & & \end{bmatrix} \quad (1.5)$$

where the matrices  $A, G_n$  are given by (1.2) and  $S_n = \sum_{j=1}^n g_j^k$ . Then the author showed that  $C^n = U_n$ .

The authors defined the  $k$  sequences of the generalized order- $k$  Pell numbers as follows: for  $n > 0$  and  $1 \leq i \leq k$

$$P_n^i = 2P_{n-1}^i + \sum_{j=2}^k P_{n-j}^i$$

with initial conditions

$$P_n^i = \begin{cases} 1 & n = 1-i, \\ 0 & \text{otherwise,} \end{cases} \text{ for } 1-k \leq n \leq 0$$

where  $P_n^i$  is the  $n$ th term of the  $i$ th generalized Pell sequence. When  $k = i = 2$ , then the generalized order- $k$  Pell sequence  $\{P_n^i\}$  is reduced to the well-known Pell sequence  $\{P_n\}$ . Also the authors defined the  $k \times k$  companion

matrix  $R$  and the  $k \times k$  matrix  $E_n$  as follows

$$R = \begin{bmatrix} 2 & 1 & \dots & 1 & 1 \\ 1 & 0 & \dots & 0 & 0 \\ 0 & 1 & & \vdots & \vdots \\ \vdots & & \ddots & 0 & 0 \\ 0 & \dots & 0 & 1 & 0 \end{bmatrix}, E_n = \begin{bmatrix} P_n^1 & P_n^2 & \dots & P_n^k \\ P_{n-1}^1 & P_{n-1}^2 & \dots & P_{n-1}^k \\ \vdots & \vdots & & \vdots \\ P_{n-k+1}^1 & P_{n-k+1}^2 & \dots & P_{n-k+1}^k \end{bmatrix}, \tag{1.6}$$

respectively. The  $k \times k$  companion matrix  $R$  is said to be the generalized order- $k$  Pell matrix. Then the authors showed that  $R^n = E_n$ . Also they defined two  $(k + 1) \times (k + 1)$  matrices  $T$  and  $H_n$  as follows

$$T = \begin{bmatrix} 1 & 0 & \dots & 0 \\ 1 & & & \\ 0 & & R & \\ \vdots & & & \\ 0 & & & \end{bmatrix} \text{ and } H_n = \begin{bmatrix} 1 & 0 & \dots & 0 \\ S_n^P & & & \\ \vdots & & E_n & \\ S_{n-k+1}^P & & & \end{bmatrix} \tag{1.7}$$

where  $S_n^P = \sum_{j=1}^n P_j^k$  and the matrices  $R, E_n$  are given by (1.6).

Then they showed that  $T^n = H_n$ . Also authors gave some useful formulas, the generalized Binet formula and the combinatorial representation of the generalized order- $k$  Pell numbers.

In this paper, we use the matrix methods to give explicit formulas for the sums of the generalized order- $k$  Fibonacci and Pell numbers from 1 to  $n$ ,  $S_n = \sum_{j=1}^n g_j^k$  and  $S_n^P = \sum_{j=1}^n P_j^k$ , respectively.

## 2. FORMULA FOR THE SUMS OF THE GENERALIZED FIBONACCI NUMBERS

Let  $f(\lambda)$  be the characteristic polynomial of the generalized order- $k$  Fibonacci matrix  $A$ , then we have  $f(\lambda) = \lambda^k - \lambda^{k-1} - \dots - \lambda - 1$  which is a well-known fact. Suppose that  $\lambda_1, \lambda_2, \dots, \lambda_k$  are the roots of equation  $\lambda^k - \lambda^{k-1} - \dots - \lambda - 1 = 0$ . From [6, 7, 8], we know that  $\lambda_1, \lambda_2, \dots, \lambda_k$  are distinct and  $\lambda_i \neq 1$  for all  $i$ .

**Lemma 1.** *Then the characteristic equation of matrix  $C$  is  $x^{k+1} - 2x^k + 1 = 0$ .*

*Proof.* If we compute the  $|C - \lambda I|$  by the Laplace expansion of determinant with respect to the first row and by (1.5), we obtain  $|C - \lambda I| = (1 - \lambda) |A - \lambda I| = -\lambda^{k+1} + 2\lambda^k - 1$  which is as desired.  $\square$

By Lemma 1, (1.5), we have the following Corollary without proof.

**Corollary 1.** *Let  $\lambda_1, \lambda_2, \dots, \lambda_k$  be the eigenvalues of  $A$ . Then the eigenvalues of  $C$  are  $\lambda_1, \lambda_2, \dots, \lambda_k, 1$  and all of them are distinct.*

Let  $V$  be the  $k \times k$  Vandermonde matrix as follows:

$$V = \begin{bmatrix} \lambda_1^{k-1} & \lambda_2^{k-1} & \dots & \lambda_k^{k-1} \\ \lambda_1^{k-2} & \lambda_2^{k-2} & \dots & \lambda_k^{k-2} \\ \lambda_1 & \lambda_2 & \dots & \lambda_k \\ 1 & 1 & \dots & 1 \end{bmatrix}.$$

Then we have [4]:

$$G_n V = V D^n$$

where  $\lambda_1, \lambda_2, \dots, \lambda_k$  are the eigenvalues of the matrix  $A$ ,  $D = \text{diag}(\lambda_1, \lambda_2, \dots, \lambda_k)$  and  $G_n$  given by (1.2).

Now we define the  $(k+1) \times (k+1)$  matrix  $\Lambda$  as follows:

$$\Lambda = \begin{bmatrix} 1 & 0 & \dots & 0 \\ \frac{-1}{k-1} & & & \\ \vdots & & V & \\ \frac{-1}{k-1} & & & \end{bmatrix} \quad (2.1)$$

where the  $k \times k$  Vandermonde matrix  $V$  is as before.

**Lemma 2.** *Let the matrix  $\Lambda$  have the form (2.1). Then the matrix  $\Lambda$  is an invertible matrix.*

*Proof.* If we compute the  $\det \Lambda$  by the Laplace expansion of determinant with respect to the first row, then it is readily seen that the values of  $\det V$  and  $\det \Lambda$  are the same. Since  $V$  is the Vandermonde matrix and  $\lambda_1, \lambda_2, \dots, \lambda_k$ 's are different,  $\det V \neq 0$  and so  $\det \Lambda \neq 0$  which is as desired.  $\square$

By a simple calculation, we have the following Lemma without proof.

**Lemma 3.** *Let the matrices  $\Lambda$  and  $C$  have the form (2.1) and (1.5), respectively. Then*

$$C\Lambda = \Lambda D$$

where  $D = \text{diag}(1, \lambda_1, \lambda_2, \dots, \lambda_k)$ .

**Theorem 1.** *Then for  $n > k \geq 2$*

$$S_n = \sum_{j=1}^n g_j^k = (g_n^1 + g_n^2 + \dots + g_n^k - 1) / (k - 1).$$

*Proof.* From Lemma 3, we have  $C\Lambda = \Lambda D$ , where  $D = \text{diag}(1, \lambda_1, \lambda_2, \dots, \lambda_k)$ . By Lemma 2, we know  $\Lambda$  is invertible, so we write that  $\Lambda^{-1}C\Lambda = D$ . Hence,  $C$  is similar to  $D$ . Thus we obtain  $C^n\Lambda = \Lambda D^n$ . Since  $C^n = U_n$ , we write  $U_n\Lambda = \Lambda D^n$ . From a matrix multiplication by considering the first entry in the second row of the matrix products  $U_n\Lambda = \Lambda D^n$ , we have

$$S_n = (g_n^1 + g_n^2 + \dots + g_n^k - 1) / (k - 1)$$

So the proof is complete.  $\square$

When  $k = 2$ ,  $S_n$  is the sum of the usual Fibonacci numbers from 1 to  $n$  and by Theorem 1, we have

$$S_n = g_n^1 + g_n^2 - 1.$$

Since  $g_n^1 = g_{n+1}^2$  for all positive integer  $n$  and  $g_n^2 = F_n$ , we write

$$S_n = \sum_{i=1}^n F_i = F_{n+1} + F_n - 1 = F_{n+2} - 1$$

which is the well-known fact from [1].

**Corollary 2.** Let  $t_n$  be the  $n$ th Tribonacci number. Then for  $n > 1$ ,

$$\sum_{j=1}^n t_j = (t_{n+2} + t_n - 1) / 2.$$

*Proof.* When  $k = 3$ , the generalized order- $k$  Fibonacci sequence  $\{g_n^3\}$  is reduced to the Tribonacci sequence  $\{t_n\}$  and let  $S_n$  denote the sums of the Tribonacci numbers from 1 to  $n$ . Then by Theorem 1, we write  $S_n = (g_n^1 + g_n^2 + g_n^3 - 1) / 2$ . By (1.3) and (1.4), we write  $g_n^1 = g_{n+1}^3$  and  $g_n^2 = g_n^3 + g_{n-1}^3$ . Since  $g_n^3 = t_n$ , we may write

$$S_n = (g_{n+1}^3 + g_n^3 + g_{n-1}^3 + g_n^3 - 1) / 2 = (t_{n+1} + 2t_n + t_{n-1} - 1) / 2.$$

By the recurrence relation of Tribonacci numbers,  $t_{n+2} = t_{n+1} + t_n + t_{n-1}$  and so we have the conclusion

$$S_n = (t_{n+2} + t_n - 1) / 2.$$

$\square$

**Corollary 3.** Let  $T_n$  be the  $n$ th Tetranacci number. Then for  $n > 1$ ,

$$\sum_{j=1}^n T_j = (T_{n+1} + 3T_n + 2T_{n-1} + T_{n-2} - 1) / 3.$$

*Proof.* From Theorem 1, the Eqs. (1.3), (1.4) and the recurrence relation of Tetranacci numbers, the proof is readily seen.  $\square$

From Theorem 1, (1.3), (1.4) and considering the above Corollaries, we have the following Theorem without proof.

**Theorem 2.** For  $n > 1$ ,

$$\sum_{j=1}^n g_j^k = \frac{g_{n+1}^k + (k-1)g_n^k + (k-2)g_{n-1}^k + \dots + 2g_{n-k+3}^k + g_{n-k+2}^k - 1}{k-1}.$$

Using Theorem 2, we now show that the sums of the generalized order- $k$  Fibonacci numbers from 1 to  $n$  can be expressed as a linear combination of  $k$  terms of the sequence.

Since  $g_{n+1}^k = g_n^k + g_{n-1}^k + \dots + g_{n-k+1}^k$  and by Theorem 2, we have

$$\begin{aligned} \sum_{j=1}^n g_j^k &= \frac{k g_n^k + (k-1) g_{n-1}^k + \dots + 3 g_{n-k+3}^k + 2 g_{n-k+2}^k + g_{n-k+1}^k - 1}{k-1} \\ &= \left( \sum_{j=1}^k (k+1-j) g_{n-j}^k - 1 \right) / (k-1). \end{aligned}$$

### 3. FORMULA FOR THE SUMS OF THE GENERALIZED PELL NUMBERS

In this section we give a formula for the sums of the generalized order- $k$  Pell numbers by matrix methods. From the Companion matrix, it is a well-known fact that the characteristic equation of the generalized order- $k$  Pell matrix  $R$  is  $g(x) = x^k - 2x^{k-1} - x^{k-2} - \dots - x - 1 = 0$ . Let  $\mu_1, \mu_2, \dots, \mu_k$  be the roots of the equation  $g(x) = 0$ . From [9], we know that the eigenvalues  $\mu_1, \mu_2, \dots, \mu_k$  are distinct and  $\mu_i \neq 1$  for all  $i$ .

We consider the  $k \times k$  Vandermonde matrix

$$\hat{V} = \begin{bmatrix} \mu_1^{k-1} & \mu_2^{k-1} & \dots & \mu_k^{k-1} \\ \mu_1^{k-2} & \mu_2^{k-2} & \dots & \mu_k^{k-2} \\ \vdots & \vdots & \dots & \vdots \\ \mu_1 & \mu_2 & \dots & \mu_k \\ 1 & 1 & \dots & 1 \end{bmatrix}. \quad (3.1)$$

Then we have  $E_n \hat{V} = \hat{V} \check{D}^n$  where  $\check{D} = \text{diag}(\mu_1, \mu_2, \dots, \mu_k)$  [9].

Now we extend the  $k \times k$  Vandermonde matrix  $\hat{V}$  to the  $(k+1) \times (k+1)$  matrix  $W$  as follows

$$W = \begin{bmatrix} 1 & 0 & \dots & 0 \\ -k^{-1} & & & \\ \vdots & & \hat{V} & \\ -k^{-1} & & & \end{bmatrix}. \quad (3.2)$$

If the  $\det W$  is expanded to the first row, then it is seen that  $\det W = \det \hat{V}$ . Since  $\mu_1, \mu_2, \dots, \mu_k$  are distinct, the matrix  $\hat{V}$  is invertible and so  $\det W \neq 0$ .

Expanding the characteristic equation of the matrix  $T$ ,  $|T - \lambda I| = 0$ , to the first row, by the characteristic equation of the matrix  $R$ , we have the following Lemma without proof.

**Lemma 4.** *Then the characteristic equation of matrix  $T$  is  $h(x) = x^{k+1} - 3x^k - x^{k-1} - 1 = 0$ .*

Note that  $h(x) = x^{k+1} - 3x^k - x^{k-1} - 1 = (x - 1)g(x)$  where  $g(x)$  is the characteristic polynomial of the matrix  $R$ . Since the roots of  $g(x)$  are distinct and all of them are different from 1, thus the roots of the  $h(x)$  are distinct.

**Lemma 5.** *Let the matrix  $W$  have the form (3.2). Then the matrix  $W$  is invertible.*

*Proof.* By the Laplace expansion of determinant with respect to the first row, we see that  $\det W = \det \hat{V}$  where the matrix  $\hat{V}$  given by (3.1). Since  $\det \hat{V} \neq 0$ , the proof is complete.  $\square$

Now by a simple calculation, we give the following Lemma.

**Lemma 6.** *Let the matrices  $W$  and  $T$  have the forms (3.2) and (1.7), respectively. Then*

$$TW = WQ$$

where  $Q = \text{diag}(1, \mu_1, \mu_2, \dots, \mu_k)$  is the diagonal matrix of order  $k + 1$ .

Then we have the following Theorem for the explicit formula for the sums of the generalized Pell numbers.

**Theorem 3.** *Let  $S_n^P$  denote the sums of the generalized Pell numbers from 1 to  $n$ . Then*

$$S_n^P = \sum_{j=1}^n P_j^k = (P_n^1 + P_n^2 + \dots + P_n^k - 1) / k.$$

*Proof.* Since the matrix  $W$  is invertible and by Lemma 6, we write  $W^{-1}TW = Q$ . Thus,  $T$  is similar to  $Q$ . Then we obtain  $T^n W = WQ^n$ . Since  $T^n = H_n$ , we write  $H_n W = WQ^n$ . From a matrix multiplication by considering the first entry in the second row of the matrix products  $T^n W = WQ^n$ , we have

$$S_n^P = \sum_{j=1}^n P_j^k = (P_n^1 + P_n^2 + \dots + P_n^k - 1) / k.$$

So the theorem is proven.  $\square$

When  $k = i = 2$ , the generalized Pell sequence  $\{P_n^i\}$  is reduced to the usual Pell sequence  $\{P_n\}$ . Since  $P_n^1 = P_{n+1}^2$  for all  $n$  and by Theorem 3, we obtain

$$\sum_{j=1}^n P_j = (P_n^1 + P_n^2 - 1) / 2 = (P_{n+1}^2 + P_n^2 - 1) / 2$$

which is well-known result from [3].

Since  $E_{n+1} = E_n E_1 = E_1 E_n$ , the matrix  $E_1$  is commutative under matrix multiplication where  $E_n$  is given by (1.6), we have

$$P_n^i = P_{n-1}^1 + P_{n-1}^{i+1} \text{ for } 2 \leq i \leq k, \tag{3.3}$$

$$P_n^1 = P_n^k. \tag{3.4}$$

Thus as an analogue of the Theorem 2, by Theorem 3, (3.3) and (3.4), for generalized order- $k$  Pell numbers, we have the following result:

$$\sum_{j=1}^n P_j = \frac{kP_n^k + (k-1)P_{n-1}^k + \dots + 3P_{n-k+3}^k + 2P_{n-k+2}^k + P_{n-k+1}^k - 1}{k}.$$

#### 4. CONCLUSIONS

For common generalization of the generalized order- $k$  Fibonacci, Pell numbers and similar other sequences, define the sequence  $\{a_n^i\}$  as follows: for  $n > 0$ ,  $1 \leq i \leq k$  and fixed constant  $\alpha$ ,

$$a_n^i = \alpha a_{n-1}^i + a_{n-1}^i + \dots + a_{n-k}^i$$

with initial conditions

$$a_n^i = \begin{cases} 1 & n = 1 - i, \\ 0 & \text{otherwise,} \end{cases} \quad \text{for } 1 - k \leq n \leq 0.$$

If the characteristic equation of the sequence  $\{a_n^i\}$ , that is,  $x^{k+1} - \alpha x^k - x^{k-1} - \dots - x - 1 = 0$ , does not have multiple roots, then by considering Theorems 2 and 3, one can obtain the following result:

$$\sum_{j=1}^n a_j = \frac{ka_n^k + (k-1)a_{n-1}^k + \dots + 3a_{n-k+3}^k + 2a_{n-k+2}^k + a_{n-k+1}^k - 1}{k-2+\alpha}.$$

#### ACKNOWLEDGEMENT

The author would like to thank to the anonymous referee for helpful suggestions.

#### REFERENCES

- [1] S. Vajda, Fibonacci & Lucas numbers, and the golden section, John Wiley & Sons, Inc., New York, 1989.
  - [2] M. C. Er, Sums of Fibonacci numbers by matrix methods, Fibonacci Quart. 22 (3) (1984), 204-207.
  - [3] A. F. Horadam, Pell identities, Fibonacci Quart. 9 (3) (1971), 245-252, 263.
  - [4] E. Kilic and D. Tasci, On the Generalized Order- $k$  Fibonacci and Lucas Numbers, Rocky Mountain J. Math. 36 (6) (2006), 1915-1926.
  - [5] D. Tasci and E. Kilic, On the Order- $k$  Generalized Lucas Numbers, Appl. Math. Comput., 155 (3) (2004), 637-641.
  - [6] H. Minc, Permanents of  $(0, 1)$ -Circulants, Canad. Math. Bull. 7 (1964), 253-263.
  - [7] O. Taussky, Bounds for characteristic root of matrices, Duke Math. J., 15 (1948), 1043-1044.
  - [8] G.-Y. Lee, S.-G. Lee, J.-S. Kim and H.-K. Shin, The Binet formula and representations of  $k$ -generalized Fibonacci number, Fibonacci Quart. 39 (2) (2001), 158-164.
  - [9] E. Kilic and D. Tasci, The Generalized Binet Formula, Representation and Sums of The Generalized Order- $k$  Pell Numbers, Taiwanese J. Math. 10 (6) (2006), 1661-1670.
- E-mail address:* ekilic@etu.edu.tr

TOBB UNIVERSITY OF ECONOMICS AND TECHNOLOGY, MATHEMATICS DEPARTMENT,  
06560 SÖĞÜTÖZÜ, ANKARA TURKEY